

班級：結構組碩一A 學號：M93520008 姓名：吳安傑

國立台灣海洋大學河海工程研究所BEM作業十四 (2004)

Filename : BEM14s.nb

$$M(R, \theta; \rho, \phi) = \begin{cases} M^I = \sum_{n=1}^{\infty} \frac{\rho^{n-1}}{R^{n+1}} n \cos(n(\theta - \phi)), & R > \rho \\ M^E = \sum_{n=1}^{\infty} \frac{R^{n-1}}{\rho^{n+1}} n \cos(n(\theta - \phi)), & R < \rho \end{cases}$$

$$\begin{aligned} & \int_0^{2\pi} M^I(R, \theta; \rho, \phi) \sin(m\theta) d\theta \\ &= \int_0^{2\pi} \left[\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{R^{n+1}} n \cos(n(\theta - \phi)) \right] [\sin(m\theta)] d\theta \\ &= \int_0^{2\pi} \left[\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{R^{n+1}} n (\cos(n\theta) \cos(n\phi) + \sin(n\theta) \sin(n\phi)) \right] [\sin(m\theta)] d\theta \\ &= \int_0^{2\pi} \left[\frac{\rho^{m-1}}{R^{m+1}} m \sin(m\phi) \sin^2(m\theta) \right] d\theta \quad (\text{週期函數性質, } n = m \text{ 才有值}) \\ &= \int_0^{2\pi} \left[\frac{\rho^{m-1}}{R^{m+1}} m \sin(m\phi) \left(\frac{1 - \cos(2m\theta)}{2} \right) \right] d\theta \\ &= \frac{\rho^{m-1}}{R^{m+1}} m \sin(m\phi) \left(\frac{1}{2} \theta - \frac{1}{4m} \sin(2m\theta) \right) \Big|_0^{2\pi} \\ &= \frac{\rho^{m-1}}{R^{m+1}} m \sin(m\phi) \pi \end{aligned}$$

$$\begin{aligned} & \bullet \int_0^{2\pi} M^I(\rho, \phi; \bar{\rho}, \bar{\phi}) \int_0^{2\pi} M^I(R, \theta; \rho, \phi) \sin(m\theta) d\theta d\phi \\ &= \int_0^{2\pi} \left[\sum_{i=1}^{\infty} \frac{\bar{\rho}^{i-1}}{\rho^{i+1}} i \cos(i(\phi - \bar{\phi})) \right] \left[\frac{\rho^{m-1}}{R^{m+1}} m \sin(m\phi) \pi \right] d\phi \\ &= \int_0^{2\pi} \left[\sum_{i=1}^{\infty} \frac{\bar{\rho}^{i-1}}{\rho^{i+1}} i (\cos(i\phi) \cos(i\bar{\phi}) + \sin(i\phi) \sin(i\bar{\phi})) \right] \left[\frac{\rho^{m-1}}{R^{m+1}} m \sin(m\phi) \pi \right] d\phi \\ &= \int_0^{2\pi} \left[\frac{\bar{\rho}^{m-1}}{\rho^2 R^{m+1}} m^2 \pi \sin(m\bar{\phi}) \sin^2(m\phi) \right] d\phi \quad (\text{週期函數性質, } i = m \text{ 才有值}) \\ &= \frac{\bar{\rho}^{m-1}}{\rho^2 R^{m+1}} m^2 \pi \sin(m\bar{\phi}) \left(\frac{1}{2} \phi - \frac{1}{4m} \sin(2m\phi) \right) \Big|_0^{2\pi} \\ &= \frac{\bar{\rho}^{m-1}}{\rho^2 R^{m+1}} m^2 \pi^2 \sin(m\bar{\phi}) \\ &= m^2 \pi^2 \sin(m\bar{\phi}) = -\pi^2 \frac{d^2}{d\phi^2} (\sin(m\bar{\phi})) \quad (\text{when } \rho = \bar{\rho} = R = 1) \end{aligned}$$

$M^I M^I(\sin(m\theta)) = -\pi^2 \frac{d^2}{d\theta^2} (\sin(m\theta)) = m^2 \pi^2 \sin(m\theta)$

$$\begin{aligned}
& \int_0^{2\pi} M^I(R, \theta; \rho, \phi) \cos(m\theta) d\theta \\
&= \int_0^{2\pi} \left[\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{R^{n+1}} n \cos(n(\theta - \phi)) \right] [\cos(m\theta)] d\theta \\
&= \int_0^{2\pi} \left[\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{R^{n+1}} n (\cos(n\theta) \cos(n\phi) + \sin(n\theta) \sin(n\phi)) \right] [\cos(m\theta)] d\theta \\
&= \int_0^{2\pi} \left[\frac{\rho^{m-1}}{R^{m+1}} m \cos(m\phi) \cos^2(m\theta) \right] d\theta \quad (\text{週期函數性質, } n = m \text{ 才會有值}) \\
&= \int_0^{2\pi} \left[\frac{\rho^{m-1}}{R^{m+1}} m \cos(m\phi) \left(\frac{1 + \cos(2m\theta)}{2} \right) \right] d\theta \\
&= \frac{\rho^{m-1}}{R^{m+1}} m \cos(m\phi) \left(\frac{1}{2} \theta + \frac{1}{4m} \sin(2m\theta) \right) \Big|_0^{2\pi} \\
&= \frac{\rho^{m-1}}{R^{m+1}} m \cos(m\phi) \pi
\end{aligned}$$

$$\begin{aligned}
& \bullet \int_0^{2\pi} M^I(\rho, \phi; \bar{\rho}, \bar{\phi}) \int_0^{2\pi} M^I(R, \theta; \rho, \phi) \cos(m\theta) d\theta d\phi \\
&= \int_0^{2\pi} \left[\sum_{i=1}^{\infty} \frac{\bar{\rho}^{i-1}}{\rho^{i+1}} i \cos(i(\phi - \bar{\phi})) \right] \left[\frac{\rho^{m-1}}{R^{m+1}} m \cos(m\phi) \pi \right] d\phi \\
&= \int_0^{2\pi} \left[\sum_{i=1}^{\infty} \frac{\bar{\rho}^{i-1}}{\rho^{i+1}} i (\cos(i\phi) \cos(i\bar{\phi}) + \sin(i\phi) \sin(i\bar{\phi})) \right] \left[\frac{\rho^{m-1}}{R^{m+1}} m \cos(m\phi) \pi \right] d\phi \\
&= \int_0^{2\pi} \left[\frac{\bar{\rho}^{m-1}}{\rho^2 R^{m+1}} m^2 \pi \cos(m\bar{\phi}) \cos^2(m\phi) \right] d\phi \quad (\text{週期函數性質, } i = m \text{ 才會有值}) \\
&= \frac{\bar{\rho}^{m-1}}{\rho^2 R^{m+1}} m^2 \pi \cos(m\bar{\phi}) \left(\frac{1}{2} \phi + \frac{1}{4m} \sin(2m\phi) \right) \Big|_0^{2\pi} \\
&= \frac{\bar{\rho}^{m-1}}{\rho^2 R^{m+1}} m^2 \pi^2 \cos(m\bar{\phi}) \\
&= m^2 \pi^2 \cos(m\bar{\phi}) = -\pi^2 \frac{d^2}{d\phi^2} (\cos(m\bar{\phi})) \quad (\text{when } \rho = \bar{\rho} = R = 1)
\end{aligned}$$

$M^I M^I(\cos(m\theta)) = -\pi^2 \frac{d^2}{d\theta^2} (\cos(m\theta)) = m^2 \pi^2 \cos(m\theta)$

$$U(R, \theta; \rho, \phi) = \begin{cases} U^I = \ln R - \sum_{n=1}^{\infty} \frac{1}{n} \left(\frac{\rho}{R} \right)^n \cos(n(\theta - \phi)), & R > \rho \\ U^E = \ln \rho - \sum_{n=1}^{\infty} \frac{1}{n} \left(\frac{R}{\rho} \right)^n \cos(n(\theta - \phi)), & R < \rho \end{cases}$$

$$\begin{aligned}
& \int_0^{2\pi} \mathbf{U}^I (R, \theta; \rho, \phi) \sin (m\theta) d\theta \\
&= \int_0^{2\pi} \left[\ln R - \sum_{n=1}^{\infty} \frac{1}{n} \left(\frac{\rho}{R} \right)^n \cos (n(\theta - \phi)) \right] [\sin (m\theta)] d\theta \\
&= \int_0^{2\pi} [\ln R \sin (m\theta)] - \left[\sum_{n=1}^{\infty} \frac{1}{n} \left(\frac{\rho}{R} \right)^n \cos (n(\theta - \phi)) \sin (m\theta) \right] d\theta \\
&= -\frac{1}{m} \ln R \cos (m\theta) \Big|_0^{2\pi} - \frac{1}{m} \left(\frac{\rho}{R} \right)^m \sin (m\phi) \left(\frac{1}{2} \theta - \frac{1}{4m} \sin (2m\theta) \right) \Big|_0^{2\pi} \\
&= -\frac{1}{m} \left(\frac{\rho}{R} \right)^m \sin (m\phi) \pi
\end{aligned}$$

$$\begin{aligned}
& \bullet \int_0^{2\pi} \mathbf{U}^I (\rho, \phi; \bar{\rho}, \bar{\phi}) \int_0^{2\pi} \mathbf{U}^I (R, \theta; \rho, \phi) \sin (m\theta) d\theta d\phi \\
&= \int_0^{2\pi} \left[\ln \rho - \sum_{i=1}^{\infty} \frac{1}{i} \left(\frac{\bar{\rho}}{\rho} \right)^i \cos (i(\phi - \bar{\phi})) \right] \left[-\frac{1}{m} \left(\frac{\rho}{R} \right)^m \sin (m\phi) \pi \right] d\phi \\
&= \int_0^{2\pi} \left[-\ln \rho \frac{1}{m} \left(\frac{\rho}{R} \right)^m \sin (m\phi) \pi \right] + \left[\frac{1}{m^2} \left(\frac{\bar{\rho}}{R} \right)^m \cos (m(\phi - \bar{\phi})) \sin (m\phi) \pi \right] d\phi \\
&= \ln \rho \frac{1}{m^2} \left(\frac{\rho}{R} \right)^m \cos (m\phi) \pi \Big|_0^{2\pi} + \frac{1}{m^2} \left(\frac{\bar{\rho}}{R} \right)^m \sin (m\bar{\phi}) \left(\frac{1}{2} \phi - \frac{1}{4m} \sin (2m\phi) \right) \Big|_0^{2\pi} \pi \\
&= \frac{1}{m^2} \left(\frac{\bar{\rho}}{R} \right)^m \sin (m\bar{\phi}) \pi^2 \\
&= \frac{1}{m^2} \pi^2 \sin (m\bar{\phi}) = \pi^2 \int \int \sin (m\bar{\phi}) d\theta d\phi \quad (\text{when } \rho = \bar{\rho} = R = 1)
\end{aligned}$$

$$\boxed{\mathbf{U}^I \mathbf{U}^I (\sin (m\theta)) = -\pi^2 \int \int \sin (m\theta) d\theta d\phi = \frac{1}{m^2} \pi^2 \sin (m\theta)}$$

$$\mathbf{T} (R, \theta; \rho, \phi) = \begin{cases} \mathbf{T}^I = \frac{1}{R} + \sum_{n=1}^{\infty} \frac{\rho^n}{R^{n+1}} \cos (n(\theta - \phi)), & R > \rho \\ \mathbf{T}^E = -\sum_{n=1}^{\infty} \frac{R^{n-1}}{\rho^n} \cos (n(\theta - \phi)), & R < \rho \end{cases}$$

$$\begin{aligned}
& \int_0^{2\pi} \mathbf{T}^E (R, \theta; \rho, \phi) \sin (m\theta) d\theta \\
&= \int_0^{2\pi} \left[-\sum_{n=1}^{\infty} \frac{R^{n-1}}{\rho^n} \cos (n(\theta - \phi)) \right] [\sin (m\theta)] d\theta \\
&= -\frac{R^{m-1}}{\rho^m} \sin (m\phi) \left(\frac{1}{2} \theta - \frac{1}{4m} \sin (2m\theta) \right) \Big|_0^{2\pi} \\
&= -\frac{R^{m-1}}{\rho^m} \sin (m\phi) \pi
\end{aligned}$$

$$\begin{aligned}
& \bullet \int_0^{2\pi} \mathbf{T}^I(\rho, \phi; \bar{\rho}, \bar{\phi}) \int_0^{2\pi} \mathbf{T}^E(\mathbf{R}, \theta; \rho, \phi) \sin(m\theta) d\theta d\phi \\
&= \int_0^{2\pi} \left[\frac{1}{\rho} + \sum_{i=1}^{\infty} \frac{\bar{\rho}^{-i}}{\rho^{i+1}} \cos(i(\phi - \bar{\phi})) \right] \left[-\frac{\mathbf{R}^{m-1}}{\rho^m} \sin(m\phi) \pi \right] d\phi \\
&= \int_0^{2\pi} \left[-\frac{1}{\rho} \frac{\mathbf{R}^{m-1}}{\rho^m} \sin(m\phi) \pi \right] - \left[\frac{\bar{\rho}^{-m} \mathbf{R}^{m-1}}{\rho^{2m+1}} \cos(m(\phi - \bar{\phi})) \sin(m\phi) \pi \right] d\phi \\
&= \frac{1}{\rho} \frac{1}{m} \frac{\mathbf{R}^{m-1}}{\rho^m} \cos(m\phi) \pi \Big|_0^{2\pi} - \frac{\bar{\rho}^{-m} \mathbf{R}^{m-1}}{\rho^{2m+1}} \sin(m\bar{\phi}) \left(\frac{1}{2} \phi - \frac{1}{4m} \sin(2m\phi) \right) \Big|_0^{2\pi} \pi \\
&= -\frac{\bar{\rho}^{-m} \mathbf{R}^{m-1}}{\rho^{2m+1}} \sin(m\bar{\phi}) \pi^2 \\
&= \boxed{-\pi^2 \sin(m\bar{\phi})} \quad (\text{when } \rho = \bar{\rho} = \mathbf{R} = 1)
\end{aligned}$$

$$\begin{aligned}
\mathbf{L}(\mathbf{R}, \theta; \rho, \phi) &= \begin{cases} \mathbf{L}^I = -\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{\mathbf{R}^n} \cos(n(\theta - \phi)), & \mathbf{R} > \rho \\ \mathbf{L}^E = \frac{1}{\rho} + \sum_{n=1}^{\infty} \frac{\mathbf{R}^n}{\rho^{n+1}} \cos(n(\theta - \phi)), & \mathbf{R} < \rho \end{cases} \\
&\int_0^{2\pi} \mathbf{L}^E(\mathbf{R}, \theta; \rho, \phi) \sin(m\theta) d\theta \\
&= \int_0^{2\pi} \left[\frac{1}{\rho} + \sum_{n=1}^{\infty} \frac{\mathbf{R}^n}{\rho^{n+1}} \cos(n(\theta - \phi)) \right] [\sin(m\theta)] d\theta \\
&= \int_0^{2\pi} \left[\frac{1}{\rho} \sin(m\theta) \right] + \left[\frac{\mathbf{R}^m}{\rho^{m+1}} \cos(m(\theta - \phi)) \sin(m\theta) \right] d\theta \\
&= -\frac{1}{m} \frac{1}{\rho} \cos(m\theta) \Big|_0^{2\pi} + \frac{\mathbf{R}^m}{\rho^{m+1}} \sin(m\phi) \left(\frac{1}{2} \theta - \frac{1}{4m} \sin(2m\theta) \right) \Big|_0^{2\pi} \\
&= \frac{\mathbf{R}^m}{\rho^{m+1}} \sin(m\phi) \pi
\end{aligned}$$

$$\begin{aligned}
& \bullet \int_0^{2\pi} \mathbf{L}^I(\rho, \phi; \bar{\rho}, \bar{\phi}) \int_0^{2\pi} \mathbf{L}^E(\mathbf{R}, \theta; \rho, \phi) \sin(m\theta) d\theta d\phi \\
&= \int_0^{2\pi} \left[-\sum_{i=1}^{\infty} \frac{\bar{\rho}^{-i-1}}{\rho^i} \cos(i(\phi - \bar{\phi})) \right] \left[\frac{\mathbf{R}^m}{\rho^{m+1}} \sin(m\phi) \pi \right] d\phi \\
&= \int_0^{2\pi} \left[-\frac{\bar{\rho}^{-m-1} \mathbf{R}^m}{\rho^{2m+1}} \cos(m(\phi - \bar{\phi})) \sin(m\phi) \pi \right] d\phi \\
&= -\frac{\bar{\rho}^{-m-1} \mathbf{R}^m}{\rho^{2m+1}} \sin(m\bar{\phi}) \pi \left(\frac{1}{2} \phi - \frac{1}{4m} \sin(2m\phi) \right) \Big|_0^{2\pi} \\
&= -\frac{\bar{\rho}^{-m-1} \mathbf{R}^m}{\rho^{2m+1}} \sin(m\bar{\phi}) \pi^2 \\
&= \boxed{-\pi^2 \sin(m\bar{\phi})} \quad (\text{when } \rho = \bar{\rho} = \mathbf{R} = 1)
\end{aligned}$$

$$\begin{aligned}
& \int_0^{2\pi} \mathbf{M}^I(\mathbf{R}, \theta; \rho, \phi) \sin(m\theta) d\theta \\
&= \int_0^{2\pi} \left[\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{\mathbf{R}^{n+1}} n \cos(n(\theta - \phi)) \right] [\sin(m\theta)] d\theta \\
&= \int_0^{2\pi} \left[\sum_{n=1}^{\infty} \frac{\rho^{n-1}}{\mathbf{R}^{n+1}} n (\cos(n\theta) \cos(n\phi) + \sin(n\theta) \sin(n\phi)) \right] [\sin(m\theta)] d\theta \\
&= \int_0^{2\pi} \left[\frac{\rho^{m-1}}{\mathbf{R}^{m+1}} m \sin(m\phi) \sin^2(m\theta) \right] d\theta \\
&= \int_0^{2\pi} \left[\frac{\rho^{m-1}}{\mathbf{R}^{m+1}} m \sin(m\phi) \left(\frac{1 - \cos(2m\theta)}{2} \right) \right] d\theta \\
&= \frac{\rho^{m-1}}{\mathbf{R}^{m+1}} m \sin(m\phi) \left(\frac{1}{2} \theta - \frac{1}{4m} \sin(2m\theta) \right) \Big|_0^{2\pi} \\
&= \frac{\rho^{m-1}}{\mathbf{R}^{m+1}} m \sin(m\phi) \pi
\end{aligned}$$

$$\begin{aligned}
& \bullet \int_0^{2\pi} \mathbf{U}^I(\rho, \phi; \bar{\rho}, \bar{\phi}) \int_0^{2\pi} \mathbf{M}^I(\mathbf{R}, \theta; \rho, \phi) \sin(m\theta) d\theta d\phi \\
&= \int_0^{2\pi} \left[\ln \rho - \sum_{i=1}^{\infty} \frac{1}{i} \left(\frac{\bar{\rho}}{\rho} \right)^i \cos(i(\phi - \bar{\phi})) \right] \left[\frac{\rho^{m-1}}{\mathbf{R}^{m+1}} m \sin(m\phi) \pi \right] d\phi \\
&= \int_0^{2\pi} \left[\ln \rho \frac{\rho^{m-1}}{\mathbf{R}^{m+1}} m \sin(m\phi) \pi \right] - \left[\bar{\rho}^m \rho^{m-2} \mathbf{R}^{m+1} \cos(m(\phi - \bar{\phi})) \sin(m\phi) \pi \right] d\phi \\
&= -\ln \rho \frac{\rho^{m-1}}{\mathbf{R}^{m+1}} \cos(m\phi) \pi \Big|_0^{2\pi} - \bar{\rho}^m \rho^{m-2} \mathbf{R}^{m+1} \sin(m\bar{\phi}) \left(\frac{1}{2} \phi - \frac{1}{4m} \sin(2m\phi) \right) \Big|_0^{2\pi} \pi \\
&= -\bar{\rho}^m \rho^{m-2} \mathbf{R}^{m+1} \sin(m\bar{\phi}) \pi^2 \\
&= \boxed{-\pi^2 \sin(m\bar{\phi})} \quad (\text{when } \rho = \bar{\rho} = \mathbf{R} = 1)
\end{aligned}$$

Calderon projector :

$$\begin{aligned}
\mathbf{T}^I \mathbf{T}^E &= \mathbf{U} \mathbf{M} \\
\mathbf{L}^I \mathbf{L}^E &= \mathbf{M} \mathbf{U}
\end{aligned}$$